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General Instructions :

40/1

()
(ii)
(iii)
(iv)
v)
(vi)

(vii)

There are 30 questions.
All the questions are compulsory.
Questions No. 1 to 8 are multiple choice questions carrying 1 mark each.

Questions No. 9 to 14 are short answer questions carrying 2 marks each. Answer
to each of these should not exceed 50 words.

Questions No. 15 to 20 are short answer questions carrying 4 marks each. Answer

to each of these should not exceed 100 words.

Questions No. 21 to 24 are long answer questions carrying 5 marks each. Answer

to each of these should not exceed 150 words.

Questions No. 25 to 30 are long answer questions carrying 6 marks each. Answer

to each of these should not exceed 200 words.

A G895 §RT T Ueh T o g 9RAE Tadm § ufaeiid eEar o foa=mr s gqra
Y A | R & STIAH e g0 39 S9N i 3 7 forar | F8i fee fagiama
% YR W YR & ITIaH —ETerd gRT 3o G ol 376 IR 31 7/ 2

)
@)
)
(=)

T fereh = 1 fegia

MRt & foas 1 fagid

TR 29 T i

faferera aTaet =61 7 1

A constitutional amendment was passed by Indian Parliament which curtailed the

concept of ‘Federalism’ enshrined in the Indian Constitution. This amendment was
held to be invalid by the Supreme Court of India. Here, by virtue of which theory /

doctrine, the Supreme Court of India has invalidated the said constitutional

amendment ?

(a)
(b)
(c)
(d)

Principle of Natural Justice
Theory of Separation of Powers
Doctrine of Basic Structure

Principle of Legitimate Expectation



2. UNE B & e i giaeret % foe mHigue faun o e 9 aut @ e w)
WE | AFYA & IRH TEH W RN U TE 3R TS a7 T, Sk BHraae fawm =, v w=
THH AT FH BT ST &, TR TR0 A W ot Fataadr s it wed=et o
AR | DT 32/226 % A WA FiGAAN % FENGA FI T ATHIASs T8d
SUAH & ?

() Eeaa g At

(@) wI-arel gifes

M  Re-sim-HeEg

@) Resmaeas 1

The residents of P.V. Colony have been paying for civic facilities to Municipal

Department for last three years. During monsoons the roads developed cracks and pit
holes. The residents requested for repair of the roads. However Municipal Department,
which has the responsibility to provide for this ignored all requests of the residents in
spite of continuous reminders. What immediate remedy is available to the residents of
P.V. Colony under Article 32/226 of Indian Constitution ?

(a)  Writ of Habeas Corpus
(b)  Writ of Quo-Warranto
(c)  Writ of Mandamus

(d)  Writ of Certiorari

3. AT o THE (T 3 FIreT) % TR | fAfeiad H & i 91 w2 SUgad 81 & 2
(@) TE ot A% Togial 1 U Igead & ST SaRisd g YREe St sl Fdrer Bl ¢ |
(@) ERA 32 -t & e S T AT § S S gad B aeH §

TR B |
(M) € T o & ST T oY IWORI3H, 3R AT 3 8Re] HFAT & a1 & |
() Ig Rt fafere arret § =tk &1 % W] H S ORRT 9 Hetad ¢ | 1

Which of the following statements does not hold good for “Conflict of Laws” ?
(a) Itisasetof rules and principles that govern interstate interactions.

(b) Its primary objective is to provide for a framework of rules and regulations
which help in fostering international relations.

(c) Itisabody constituted of conventions, model laws, domestic laws of state.

(d) Ttinvolves issues like application of Jurisdiction in a particular case.
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7Rt fafer dam |fafa (TLSC) & wfmfad &

(%)

(C))

Q)

Q)

STUAH AT T ETEINT 3TeeT 9T Aard g1 Feia 3T IRT & TuEs gR
TG 3T G5

T fafaet 57 9o 3Tege] e ST AR & T I & WEHY 9 9T R
T Fuifa e

TN =TI USR] T e o ®F U q97 Ioo AT o T == g
T WHR & WY § FuiRa o= a5

TT AT T AR T o ®9 W Y 3T e & GO IR R
Ui 3T To9 TR FRT T 37 T

Taluk Legal Services Committee (TLSC) consists of :

(a)

(b)

(c)

(d)

Judge of Supreme Court as the Chairman, and the other members prescribed by
President of India and nominated by the Prime Minister of India.

Senior civil judge as ex officio chairman and other members prescribed by State
Government in consultation with the Chief Justice of High Court.

Senior most judicial officer as ex officio chairman and other member prescribed
by Chief Justice of High Court in consultation with the State Government.

Judge of High Court as the Chairman, and other members prescribed by Chief
Justice of High Court and nominated by State Government.

e greie o AR © | ST $oie o Ueh W=l Ure fovaiererd § LL.B. T & foan & |
Tz Tt IR F T § W FAT G § | R kB9 A Uieed wA F o 3d

Tfetad 5 9 fohd QX1 2T &I 2
@) e UiFed HE (LPC)

(@) TN AT S % (LPTC)
(M) IR WHIES 27 %d (BPTC)
(F) R WHYES B (BPC)

Smith is a citizen of United Kingdom. He had completed LL.B. from recognized
University of United Kingdom. He wants to practice as a ‘Barrister’ here. In order to
practice as a ‘Barrister’, Smith is required to complete which of the following course ?

(a)
(b)
(c)
(d)

Legal Practice Course (LPC)

Legal Professional Training Course (LPTC)
Bar Professional Training Course (BPTC)
Bar Professional Course (BPC)
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TER qRT S ARE ¢ 3R AFar 9 Tediche € | 99 2000 H 3¥ TSI § fgea S
=Tk A e foham o | fohg 9 2003 § 3T f5cd Sl =g A & U 9
I T 521 | T 2009 § 39 fSoedt ST =mmerd ¥ Uiged Uiy & | 9y 2011 § gRamon
Tera Jergpett Fet T 3R a9 W 97 USTd qet gRAT 3T ARetd | UgHihe & &9 § Ufded
FT @ E 12015 H g8 g Fgfea & e am & 2

() oA ST AT BT AT

@) STHAH AT AR ST e ST T =ETEeT
@M  Hae e st
() FHocd STEAH AT T =TT 1

Prakhar, is a citizen of India and a qualified Advocate. In the year 2000, he was
appointed as a Second Class Judicial Magistrate in Rajasthan. But in the year 2003, he
resigned from the post of Second Class Judicial Magistrate. He started practising as an
Advocate in Delhi High Court in the year 2009. In the year 2011, he shifted to
Panchkula located in Haryana and since then he is practising as an advocate in Punjab
and Haryana High Court. In 2015 he is eligible to be appointed as ?

(a) High Court Judge only

(b) Both Supreme Court and High Court Judge
(c) District Judge only

(d) Supreme Court Judge only

e ¥RA F AR 3R Hag 1 Hadl € | 98 Jrgar W el Heeei & 3K gas 39
R B 1992 ¥ FHeTd W Ve §, STl 98 hael HHell GaR T &, fohq =mamed | sgq
Fol ST | 8 Tehiel % Uk i o 9 €, o e S ¥

@) aREX
@ T
(M) uEEHe
(®@) iferde 1

Rohan is a citizen of India and a resident of Mumbai. He is qualified Legal
Practitioner and practicing law since 1992, in the Bombay High Court; where he only
prepares the case but do not argue in the Court. He belongs to a separate class of legal
practitioners, known as :

(a) Barristers
(b) Attorneys
(c) Advocates
(d) Solicitors
5 [P.T.O.
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15 = 1 Mo 3109 IS & T 10,00,000 H 20 FETE T | S I Gedd & T | AR
forsht & T ISt 1 AR Jed % 20,00,000 & AT | 39k 918 fAfa= 7 fast % "l
T TR Y TS7 | I8 e gY 1o o8 ATaenT & 3R foehl o 90 HiesT & g (IT=iee)
% IR e § U 91 wifed 8, 39 31 A 210 g & faer & forw gait $id B qeey
frgert fopan | 50 e | ffafad & & o T € 9

) S faars ® geEre ®i | ST Hehar § FHiih THeid e foar g % fou
T IUFT & € |

(@) S gaTs ht HegRaT o feTu &t |1 ST ehal Hifeh ARl & forer gt (Arafer,
TG TasheTiT) ot Fezedl & &5 | 37l W@ T e |

(M e fOag il Heaeal & [ el ST ST Tehdl ATk Jid (SHraeeH) ara Tel ot
R T I STaY A3S-Ta-3HRmE ¢ |

=) UG foaTE qeAerdr & feld Hr ST bt € i Gur e merear & fou guad
S E |

Nitin, aged 15 years, agreed to sell his cottage for I 10,00,000 to Mayank, aged
20 years. However, the market value of the cottage at the time of sale was I 20,00,000.
Nitin afterwards avoided the agreement of sale by saying that, he is a minor and a case
was also pending before the court regarding the title of the cottage, at the time of sale.
They both appointed Ms. Kriti (a mediator) for the settlement of their dispute. In this

context, which one of the following is correct ?

(a) The above dispute can be referred to a mediator, as contractual disputes are most

suited for mediation.

(b) The above dispute cannot be referred for mediation as case against specific
classes of persons (minors, mentally challenged) have been excluded from the

scope of mediation.

(c) The above dispute cannot be referred for mediation as the consideration was not

adequate and hence contact is void ab initio.

(d) The above dispute can be referred to mediation, as property disputes are most

suited for mediation.



9. It AIE % SAUHRT 2 TEUT FHf AW IW A HEH F A N PTA ek SHRAT o FRT
TATT X S ME | ot TT1 % fa%gy HE A A B TE A o G ok AR W R

T ST Sooid =Tal T T |

TR et B o SToT o o AT T ST ~ATEETd & A1 e 2 379 3T o [eIT ST
Soorg f SIS | 2

Service of Mr. Varun, an officer with Water (Jal) Board was terminated by the
authorities by paying him three months salary. No inquiry was conducted against
Mr. Varun and also the termination order did not assign any reason of his termination.

In the above situation, the action of Water (Jal) Board authority justified or not ? Give
reasons to your answer.

10. R HIUNE FMH™ W T Sl I, TN 3018 & HUARE A AS A9 US H. 9 T [
THE Bt AT % TR H A7 | T oA % U 7 U WHEI o FRT S Tk ST
ToaTe gerem & ToTT et fohal | ST St shameal =it @l off, off ot o 1€ i U &l
H TS AT Ted UK 1 | T & 3w Mo o g st FoIes § A A fuset foiar §
TR T T SRR &l fohan iR faars o1 o 7ot 39 gRon & SR o i3 fo s/
3ad € 3R T T |

@) e feafa J o et bl et i teee i e Fi |

(@) T Tk & FRT AT T FOT gel W SRy €, s ST el ¥ B i AT
foet ol o TRt ST SFEROT Fél Toham 2 3T TR & foTu e ST | 2

There was a dispute between Perry & Jenny Co., an Indian body corporate and Reed
Bros. & Co., a United Kingdom body corporate regarding a contractual obligation.
The parties to the dispute, by way of an agreement, appointed Mr. Clark to resolve
their dispute. While the legal proceedings were going on, Mr. Clark granted some
interim relief to Reed Bros. & Co., also, while taking final decision, Mr. Clark did not
followed the laws or reasoning laid down in earlier decisions, rather decided the
disputes according to his conception of what is fair and just.

(a) Identify and explain the role of Mr. Clark, in the given situation.

(b) Is the decision given by Mr. Clark binding on the parties, as he did not strictly
follow the law or the reasoning of earlier case decisions ? Give reason for your
response.
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FHHA T F1 & 2 Tohedl =t st TR et B gX HRA & T et 3 UhR i
fafuss Taret 1 Sooig HINT | HHAT FerFar YTl g7 Gufoa fhat s god &1 3o
HIT |

What is “Legal Aid” ? State the two kinds of Legal Services available to a person for

his grievance redressal. State any one value communicated by the system of Legal
Aid.

3FRIT Uk AT U Tehict & 3R Tgoett o el =mamerdr § 2002 § Tehetd &R @ & | 5%
3 fafyr (feptamer <) o & | foeiosrdr ured € | & 3ifshd, STt eTdieTehd! €, § WRd % Soadq
=TT | STt (fshiHeT) % ToTu foreiy AT J1aX & foTT Sff STRAT it 10T Usdiche Hgert
fohaT | GO IS o AT = ST Sl T HA I STAN UG Fel |

T &t STRET Uh Il W bl o 31X 3 fafy & & ¥ 3% @9 SR
forerose o off, T off 378 foRfimer aTdiet SR o i STHf IR &t =7 ot 71 2

Anuraag is a qualified Lawyer practicing since 2002 in various District Courts of

Delhi. He is having special knowledge and expertise in the field of Criminal Law.
Mr. Ankit (appellant) appointed Mr. Anuraag as his advocate to file a Special Leave to
Appeal (Criminal) before the Supreme Court of India. Mr. Anuraag was not allowed
by to do so by the filing authorities of the Supreme Court.

Why was Mr. Anuraag not allowed to file the Special Leave to Appeal (Criminal),
even though he is a qualified lawyer having expertise and experience in the field of
Criminal Law ?

ferdl forete ohl ©Tish 3TEToTd hl el QAT ST Gehal € 2 olish STToTdl o (oheal &l ARl &

Il HIFT |

When can a dispute be referred to Lok Adalat ? State any two powers of Lok Adalats.

T B T g9 F SO I TR T [9a1g 30 & 77 | g9 & veti 3 U A dew ust
f. &, =1 foems gererm & forw fage foran | T, &0 3 foans o wfskan & we stfiamaes =t
oifeT 1T fohaT 3R SR LA Tel & TS T 86T GEhT Sl Weradl el U higd T fohg
€ FIE USRI T U T 3THEA & | faame! 9efl 7 39 918 3797 faars 8 & & fow Tt
AN A Teh T § GUeh fohar | Ui SAHEseq = foadia sfawor 5 fovivs fa. sw
o IR [oaTE & T o ToIw ey foma |

3o i § 3 UK & dhicash fgag fHaem o (3Meetted fevde ISeqe™ Hohi-sH) &

3o HIT |




A dispute arose between Kerry & Claire Co., a Netherland based Cosmetic Co. and
Star Heaven Co, an Indian cosmetic company regarding money transactions. The
parties to the dispute appointed Mr. Harry, a neutral third party, for settlement for their
dispute. Mr. Harry acted as a guardian of the dispute resolution process and was
focused on helping the parties to find solution to their dispute but failed to bring the
parties to settlement. The disputing parties then approached an institution named
Roger’s Organisation for the settlement of their dispute. The Roger’s Organisation

appointed Mr. Jeff (Financial Transactions expert) to resolve the said dispute.

State the two types of Alternate Dispute Resolution Mechanism in the above situation.

15. =1k GAIeToT it UIfeRT =ATAdIeTRl Sl TRER i 3T &1 WG i WRTA B G 3R
Tl ol GHvad B H T e ¢ 2 4

How power of Judicial Review helps judiciary to safeguard and to ensure the
separation of powers of the other two branches of the government in India ?

16. < ISl 330 Fieteie 3R aXa | 3fifera Reelt wdl ol 7 AR % 9N § Uh 9 o | 39 |9y
ol TS B I H o AR H 37 99 H T [Gag 957 &1 T | 1946 H HiSors TR T
H YT T AT STk GRS T AL A GG el & | WSerg 7 70 WYy areAanaii
T ¥ TR 1 | 3990 T8 g aRd A foars Huem & fou siawes = 9
Hueh fRaT |

(F) T GRA FARILE AT ST el € 2 AS &, A TIHT I A0S o Fhg Urerem
&% A 2

@) SR AT & H &7 B W BT | 4

There was a treaty between two neighbouring countries ‘Sodoland’ and ‘Borway’, to
stop the killing of Olive Ridly Turtle. A dispute arose between them regarding
fulfilment of certain terms and conditions of this treaty obligation. Sodoland became
member of United Nations in the year 1946 whereas Borway is not a member of
United Nations. Sodoland refused to fulfil its treaty obligations. Aggrieved by this,
Borway approached International Court of Justice to resolve this dispute.

(a) Can Borway approach International Court of Justice ? If yes, under which

provision of United Nations charter ?

(b)  Explain the jurisdiction of International Court of Justice.

40/1 9 [P.T.O.
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faferer Qe TeM A § T99 TR & SRS & Gy |
(@) T ATIHIOT Bl TAT T 2

@) TF AHT & [l IR Tt H ool IS |
With regards to the responsibility of the State Government to provide legal aid service;
(a) What is the composition of state authority ?

(b) State any four functions of the state authority.

‘TR AT Wid URON 98 € {6 ST 3791y <l a1 & af v (Wifed) 3iX TR (339H) U &
YROT (H) & 17

ST HoH W TaR I T4 TS a7 WS & [9gid ® A g o & gey |
FHISTT | AT & THT | T 3T T oot ff BT |

“A common misconception is that motive and intention are same concepts when it

comes to crime.”

Consider the statement given above and explain the concept of ‘Intention’ and a

‘Motive’ in terms of criminal law. Also give one difference between these two.

“1976 % 429 TRIE AT F TRAT =FNART & FAMIHI0T 1 T AR F &1 |7
AT HINT |

“42" Amendment Act, 1976 ushered the era of tribunalisation in Indian Judiciary.”
Explain.

26-11-2015 I 3UeT 91 | o 19 olel &l HOR® TORER HFT TR FHalel
3TITHTESS ShTEH U (ThIhN), 1999 o STdTd ferd = FRTAR fohar | 39 28.11.2015 T IH&X
TR 1 S AR o AHA U9 AT T | S 97 i o feRred oo off 39 310 aehiel |
WY T&l B 2 T | el 7 ARAE WU % ST 226 % S 39 STER W
FIferehT 1 TTET i o ST 22 BRI WS ST Hifolsh ST &l &9 g ¢ |

(F) YIRAE HTEH % ST 22 & UEEHT F oo HiTT |
(@) T SMYHRT (IfeT) T HRATE | AT & 2 370 ST H HRON Fl Jeoid DT |
(M) 3T 22 R GUE fRdl U Hod &l oot i |
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Babulal was arrested and detained by police authorities on 26-11-2015 at 1 p.m., under
the preventive detention law MACOCA (Maharashtra Control of Organised Crime
Act, 1999). He was produced before the magistrate on 28-11-2015 at 1 p.m. He was
not allowed to consult his lawyer during the period of detention in police custody
Babulal applied for writ under Article 226 of the Indian Constitution on the ground

that his fundamental right under Article 22 has been violated.
(a) State the provisions of Article 22 of the Indian Constitution.

(b) Are the authorities (police) justified in their action ? Give reasons for your

answer.

(c) State any one value communicated by the provisions of Article 22.

21, SIARTLE WA H ERe] B H SR B & AU Toie () TR F (GFia
STTERT AT § | AT | ARA Hore H <97 0 AF] 81 Al §rY sTearatt s an] &3 &

TIE € |

(®) TR (GG (S 3HTh SABHETH) 3R T89% UFIT i SRS HifT |
@) T 3 Tolia 9 o o O]y | ol 9 B AN 1A % 9N § 9RAE Sfede &
AT T o1 HTT | 5

For adoption of International Treaties into domestic law United Kingdom (UK)
follows the ‘Doctrine of Transformation’. In India the constitution has the provision

for implementation of treaty obligation applicable to the country.
(a) Explain the Doctrine of Transformation and its application.
(b) State the Indian constitution provision for the implementation of a treaty with

reference of any two decided case laws.

40/1 11 [P.T.O.
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e <t 8 Teafaat w e sifsT 3R 5T T g & 3 fefen

()

(C))

Q)

)

TerTT & =t @1 Iga & 29T W 3T W UH Al I g HehelT § 1R S0 7RI 45 0t
oo 9 319 TR 821 o o T 3HH R S A1 € |

e STHeET Y 797 e You S Uggel Histel W R der Rt H IRAT H 6%
T IAT & 3 TRAT T € fh e FE T T |

et  HEGH W A B TH T SR G R A A I SEABT FY A
Fifeh 39 BT T2t &l | THeh oIS Fifeet SU TS Ge9l Wi ol 3T ®IF & o |

=9 TS 1 U 9E UF RSEH 3@ T | 39 R % U ofgsh T A aTul AT
TS TTEH & T Bl SR A & 71 @i S 3= % G H of 31K a1 7 fomr
IHH! AT & 37 WISl i HHIH I EH AR | TR & {2 |

() SR E Refaal § STHeg Y 9gaTE TS &if (99 210) i Ted HiT |

(i) FR T (i) § T T TG F UL TS & ok Bl 31 WhRI W
HIT |

Consider the given situations and answer the questions that follows :

(a)

(b)

(©)

(d)

Chirag intending to harm Harshit throws an iron ball at Harshit and misses his
head as Harshit moves his head away from the direction of the iron ball.

Nimit intentionally locks Garima in a store room on 15™ floor of their office
building and Garima knows that she is trapped.

Sahil sent a friend request to Jhanvi on Facebook and Jhanvi reject his friend
request as she was not interested. Later on Sahil started sending her unwanted
messages and phone calls.

Group of 10 friends visited a museum. One of the boy named Gagan (of this
group) clicked few photographs of a girl named Vaani (of this group) without
her consent and later on posted those photographs on his Facebook timeline
without her permission.

(1)  Identify the type of intentional tort in situations given above.

(i1) Explain any two types of intentional tort identified above in part (i) of the
question.

R 3R Foie (F.3,) | fafer fren & deifud famt =6 g i |

Compare the rules regarding Legal Education in India and The United Kingdom.

12



24, FteE ferfqal ™ foar ST 3R SR 340 U T HINY 6 IRag TOuE & S
20 % 3T ST 7T HifeTeh THR T & g7 & T Tl :

() T F G T/ & SR § AT W AT T T ST TS gE | 9% H S
T} o SMER R 3 I Sehelt BT SATTINT eArn =T |

@) A W UH TS G B &l BT STRY T T | Iord i S & IR Are-T b
FT UL B GA T | IHA 3T U B I I ¥ RN B QAT | T g 3
T & o6 ST 3 & T arer € 2 5

Consider the following situations and explain by giving reasons, whether any

fundamental rights has been violated or not under Article 20 of the Indian Constitution.

(a) Arpit was charged and convicted of theft of property from Sachin. Arpit was

subsequently charged and tried for robbery on the same facts.

(b) Nandini was charged with the offence of murder of a Member of Parliament
(M.P.). During the police investigation, a list of questions was provided to
Nandini. She refused to answer those questions. Is she bound to answer, against

her wishes ?

25. I A, S TSHTE HT U TRl o1, JH AR TART HUAT i U Uiterdt o fold Fuek far it
31T Y QT o felq &, 1. SRR § Ueh favafaemer | Jas o H STl STeavaehdrat & gia
FX | I TH A TUT HT W o 3R G2, smRen & o g fFar | 9 98 9.3,
SRR Oga T 3 Il TeT 1ok ST gierdl 39 1 | § a8 o § i 39 favatemne™ g
AT W Fél € | g lS% S¥AIRT U $9ANd Uiterdl %t e o ot 98 et
SSR! Ut fof et diferat st faselt # wrar ot &t & |
() TR § R (STEHE) Sl TedH HiT SR v a1 sfeh | Tt fersbraar

& ST FY 3 % TA AL

(@) 1 IY] TH AU (INESTE) % U ST Fehell & Tk G oEH SVIRT HU Th
e T & 2 3T ST T b M |

(M) AHUTS (ST foang e i foht fafer o1 SwERor ST 2

() 9RA H AR (STTGEET) T Tk o X Teh |7 T 3o01E BT | 6
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Yashu, a student from Chandigarh, had approached Moon Life Insurance Company to
get a policy that catered to the requirements of his admission to a University in U.S.A.
for further studies. He paid a premium amount of ¥ 1 lakh and left for U.S.A. On
reaching U.S.A., he realized that the policy that he is holding in his hands is worthless,
as it is not recognized by the University. Moon Life Insurance Company in spirit of
selling an insurance policy withheld crucial information that their policy is not valid

overseas.

(a) Identify the ‘Ombudsman’ with in India to investigate and resolve complaints

related to Insurance and banking.

(b) Can Yashu approach this ombudsman as Moon Life Insurance is a private

company ? Give reasons for your answer.
(c) What method of dispute resolution is followed by the Ombudsman ?

(d) Give one advantage and one limitation of an ombudsman in India.

UL SFgrad S T SHSid 3EET 6l o, Wbt iR Reped Femor & @i
THTET |

Explain the powers, functions and complaint mechanism of National Commission for
Scheduled Castes and Scheduled Tribes.

TS 3 RAT § WiedT o 9RT 304B (3851 Tog) & 3ivd U TRy fopar foraeh ferg
fruifta 3 &t a9 9 & U &%, S 9 A § A T@l @ ok STSiied SRIEd ae
TS ST Hehell € |

(®) e feifd § SR Gear % TR St TEd iy |
(@) TR TEEH T SRS THH & TR & (a1 TROM Sl TedH HiT |

Ratan Singh committed an offence u/s 304 B (Dowry Death) of Indian Penal Code for
which the prescribed punishment is imprisonment for a term, which shall not be less

than seven years but may extend to imprisonment for life.
(a) Identify the type of Criminal Trial in the above mentioned situation.
(b) Explain the various stages of criminal trial identified above.
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28.

29.

40/1

“STg HIT AR TSAhS T §, Al STHN 3 AT | FeR AT ST Hami 9 it
2 ¥, Toh Ugathe % ¥ H 3T% 3Rl W R fafus aiteg & sty Aifaeme &
fererer Fremt =1 FremoT gt & 1

SYGFT O & Sk | (FEATAREd & TR 7T
(@) ORAHE fatus aRus gRT FUiRd T Tsaihe & Haed 3R ST
(@) A IR o T O o AR § 9RAr fafest aRug g iR

‘When a person becomes an advocate his relation with people in general is governed
by the general rules of law but his conduct as an advocate is governed by the special

rules of professional ethics of Bar Council of India.’
In the light of the above statement, answer the following :

(a) Duties and Responsibilities of an advocate, as laid down by the Bar Council of

India.

(b) Rules regarding advertisement by Legal Professionals, as laid down by the Bar

Council of India.

TRt SaTiiehial Oie = WaTas e | e GRIET AT T AT e o %G J1raet
T B | TE T foRe Hra-fudr B Mg o & oY AR g=d 39 % %™ § ot off | %
3T T T4 o S & ot 3g H A SW o YR deal i g ferd 90 Sl Sqe=t
TS | HEeT S B T AT Sk A o Sited o9 ot S0 af $% 79 97 Ted b 6w 5%
off &7 3UCTsy T 5T T & 3R 3T T o 3tod I@Ter 7 8+ & Rt o avamgha e1oen
AW S | TE Al 3R o fF JE AT T 5 o7 Wieds® et & @ i ifarad
HrT § T o |
() T T AR T TS 37 AN T R T T e & THeT ST Gehall & ST &
AT T S H 9L | & 2 9K B, O 39 ThR HI 119 Fishadm i TEd R
AT HIT |

(@) T VHR & D AhT (STSREe TFiasH) i 8 Iitad (37areh) fHar S ek & 2
(M) 39 YR i =T GishadT i 31 [GRivan farau |
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30.

40/1

One Lakshmi Kant Pandey filed a petition in the Apex Court against a social
organization named ‘Nanhi Khushiyaan’. The organization was engaged in offering
Indian children in adoption to foreign parents. It was alleged that in the guise of
adoption Indian children of tender age were not only exposed to the long dreadful
journey to distant foreign countries at great risk to their lives but in case they survive
they were not provided any shelter and relief homes and in course of time they become
beggars or prostitutes for want of proper care. It was also alleged that this social

organization is indulged in these malpractices with few other voluntary agencies.

(a) Can any person / organization approach the Apex Court on behalf of a group of

persons who are unable to approach the court for relief ?
If yes, identify and explain this kind of Judicial Activism.
(b) How can this kind of judicial activism be invoked ?

(c) State any two characteristics of this kind of judicial activism.

3O AT & fafuss Famd U FA & [T Hg SR, I5T e R e
HATTHROT i AT () SUCT X % feTT Re | 1 Wiee e 7w € 2

What provisions have been made in India to provide funds to the Central Authority,

State Authority and District Authority for providing Legal Services to its citizens ?
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